N
BEg—-1 7 BEg-2 BE-3 BEE-4
Z
—BEE BUSHER —WEE BUEHER —BEE EXELER —BEE BXELAER
eI A WAE: F6F BB 31O E sk SELMREE3OEL 1ok BBLAIRA3 39 B Mk
3200 3120 . 330 _
1 t 1
ir ) = < Mg
E4 %
g 2 \//
— . 3900 3880
. \/ /%@M&
TR 3570 e
N> WizE~>
/W /.\ﬂ,\ SR
7/ - |
A — 1
5700 | | A 150
6050 | | 2050 |[2580 7300 =T 3700
| | 7
L 1 1 “ “HAWQ
N L 1 L
— HIRmEE
r %8B BAETHMEAS2O0mM  A=10.30w
Ry 3576 B BAEBENMEAS20m A= 913w
/\\ ) TREEE M-30 A= 913m
L 3900
/\\ Y
R REWNRINAE S=FREE B SN I L
FEREORESAR. RERESH L s TEFTRO haL
LBYREMNETICLERBIET 5. CRE-3 (EROHY S—5 2 ERCD
- R4
EMETHYI—EAND
hl n ol Smhys—€AnS
% £ b))
! ' v A”Miv _n-ul
i i ‘ mg — ]
® THEE M—30
B AAERHOoRKSAC>WTRoDBRY TRV
RIBE#® 15|10 Y=l .
#@ BEEMEAS20m  A=12.48m £B BEEENMEAS20M  A=13.46m £B BAEMEAS20mM A=18.76u xaamﬁ“ﬂ%
ZR JEHUEASCOm  A=llogw £B BEEMEAS20m  A=12.52mw 2B BEEHEAS20m  A=17.75w -
LR M-30 A=11.52nt TEERE M-30 A=12.52 TEBE M-30 A=17.75m — TMRN mLERR n44
XERN Y 8 — T 1> BHEBEMEETETE RUTRRIS7LRIRR A78N
RmEs T EB
RE&2 2 3 RoWE 2 &

BRI

=HKERRE

2R _ _Eﬁma_




